1.

A x o Histe] Has
5 k= x O 32

© -2 @ -1

(1+i)x? = (1 + 3i)x — (2 - 2i) 7} <=5]57}

@0 @ 1 ® 2



O~
T X,

y

of distel, 541 20+ y+ (v - 3y)i = 3+ 27k AT

=

@ -7 ® -11

),

X
y



1+2i 1-2i
3. x=1+2i,y= +.171= .l
1—1 1-1i

A o xy + xz 9] &S FFopA?

O -1+3i @ -1-2i @ -1+2i
@ -1-i ® -1+



4.  (1+0)'0 9 322

@ 10-i @ 4i ® 8i @ 16i ® 32i



5. jP=- g
= —VATE @, 20 o gre

® 1 @

-1
® V1 @ -v1
© %A g et



olJ

o

| ]I

1

® -2i @ 2i

@ i



.
=
£

\/_7
\/__1

@)
@ 1
_— V2
(1 2
Jr
V2)i
@)
® .
| _
1—f
2
)i
©)
(1
+
V2
p)
)i



845z = (140 + - (24i)7H00] obd A5 HEE A4 x

o] ghe FHR? (i = V1)



AN ( _|_ ) 2 _ + — — 2l =z A
- ix
3 2.
‘ = ]

o, Al
x93t

H ol

® 2
@ 3
® 4

@1



10. x, y7b G AFolal, a2 4 ayi+y? -5-2i =094 o, x4y g
ook (i = V-1)

D L
-



= 1§ 2 +y29] & SLSHA 2.
ZAZ|l = A x, yE TS, 2 +y? o WS F

(1-2xi)(2-yi) =6-2i (&, x>0)




12.

(i-1)x*=3(a+i)x+ (5+2i) =0°] A2 AL E
e o pt 2o, - @& FoHH(@ > B) ?

@

SN

@

ol

®

O o

@

W | Ut



13. n7He & ay,a0,a3---a, = 1,-1, V2i,— V2i oA shte] gk 714
oL ot ©7lay +ag+as+---+a, =0,af +a5+a3+---+a; =0
olgtal & off, thx F n o gkol & e A7

@® 300 @ 303 ® 305 @ 308 ® 310






el A5t

rr

15, 4% nol dhatel, o= + 5 & W}

@ 17 @ 274 @ 37 @ 47 ® 574



16.

24 a, b, ¢, doll ot (V2 + i)t +a(V2+ i) + b(V2 +i)? +
c(V2+i)+d=0& WESch ol W, a-b-c-d9] F2? (H,
i?=-1)

© -7 @ 3 ®1 @ -1






a, 7t EA2FA o, oS F 22 A MEE(H @, =D e, B
o] Al EAsoll, i = V-1°]t})

@ a=p°1" a+B, ap= BF ALolt,

© a=4 1, o =0°]"H a =00°]T}.

® a?+p2=0°Ha=0, g=00]c}

® a+pi=0°Ha=0, =00}
@ 17 @ 270 @ 37 @ 47 ® gt}



245 ¢ o jstel thge] 2]
o,

19.

;o] FeBase)

z

I

o]

@ @’ @7@

ORONG)

ORONE

@ @7@7@7@

@ @’ @7@



20. Z:—1+ V3i

7 of] t5}o] 72005 4 72005 o] 2k ZLE}H?

®—12\/§i ® -1 @_1_2\/51,

@1 ® Vi




21.

1 2 1 _
- =198+ 5+ =+ o] g oY
X X

@ %(11 V3i)
@ g(3i V3i)

X

@ gui Vai)
® g(4i V3i)

® g@i Vai)



-1+ V3i
@ = —

22. 5

Ao, o® + 202 + 20 + 5 9 ZHS F5HHE?



23. x=-1+id o x*+2x3 + 2 -x-1 9 FES FotA?

O -1+ @ -i B i
@ -1 ®1



24. +ab = —ab, z//_g :_\/g, la+b|>cl|a, b, col tHatod

Via+b+e)2-la+b|-Vc2o gre?

® 2a @ 2b ® -2 @ -2a ® -3b






2~

26. A= e 5 2s
o) e AL, (i

D L
-

T xy 7t —y =i,



27. BE B4% o goto] the F A5 AL BE T2 (92
2 o] FARasoltt)

@ (z+1)°
© (2z+1)(z+1) -z

© (2+z+1)E+D)+ (@7 +2+1)(c+1)

ONQ) @ © ® ®
@® Q9,0 ® O, 0



28. HEiF o, pear=1 =121

o? + 2 ] & FSHE?

@ 4 @ 3 ® 2



29. WHEA (24 3i)z+ (2-3i)z = 25 W=

9 A EAS)

O &AstA] L=t} @
@ = Fjmolct,
@ A 7fEoltt,



— V3i

A0, o 4 7 9 7S A7

® 0 @1 ® 2



